6 | 5 | 4 <7 3 | 2 | 1

REVISION HISTORY

REV_[DESCRIPTION [paTE [aPP
(22.20)
SUBPANEL (REF) = 3 DETAIL B LATCH SHOWN IN
SCALE 1:3.75 CLOSED POSITION.
__________ TURN COUNTER
—_—————————— CLOCKWISE TO OPEN
o )
DETAIL C
JOP VIEW_ SCALE 1:1
SCALE 1:10 BILL OF MATERIALS
# PN DESC QTY
L] 1 |ES-302410-836_H_ASM [ TUB, WELDMENT 1
/ 2 |ES-302410-836_D1_ASM___|DOOR, WELDMENT 1
) 3 [200-0058 NUT, FLANGE, STEEL, ZY FINISH, 3/8-16, 2
SERRATED
ISOMETRIC VIEW 4 |200-0065 NUT, KEPS, STEEL, ZN FINISH, 1/4-20 2
4X 0 50 ) : 5 |200-0108 LABEL, UL 1
|‘—24-00 WIDTH ——I |‘— 10.00 MTG. | 22.50 | 6 [200-0500 ABEL, MANUFACTURE / ORDER# 1
DEPTH . MTG. W/SCHAEFER'S LOGO & US FLAG
Hig= == == = o= o = = - -—-— > ° 7 [200-0105 POCKET, SMALL DATA, GREY (7.125"W x 1
6.625"H x .920"D)w/DOUBLE SIDED TAPE
8 [200-0040 LATCH, QT, ZINC, BLK PC FINISH, ZINC 2
SLOTTED INSERT, BLK PC FINISH
9 [200-0010 CAM, 1 PT OFFSET DN, STOP, STEEL, ZN | 2
FINISH, 12 H, 45 L
10* |200-0095 WASHER, SEALING, STEEL, ZN FINISH, 3/8,| 4
T 0.43 1D, 0.75 OD, BONDED SEALING
] WASHER
~L 11 [200-2039 RAKU PUR 32-3250 A IN 200 KG BARRELS | 1
S 23 (441 LBS)
©Z s 12 [200-1644 HINGE BASE FOR MEDIUM DUTY 2
gx N HI-MDMS-140130, MS ZN PLATED FAB. PER
o PRINT
2 13 [200-1642 HINGE CLIP FOR MEDIUM DUTY 2
HI-MDXX-140130, RED PLASTIC FAB. PER
@ PRINT
14 [200-1645 HINGE PIN FOR MEDIUM DUTY 2
HI-MDMS-140130, MS ZN PLATED FAB. PER
PRINT
15 [200-2066 Washer, Flat, Acetal, #10, 0.196 1d, 0.453 Od, | 4
0.075 Thk
L) 16 [200-1668 SCREW, 10-32 x 1/4" SS HEX WASHER 2
HEAD SLOTTED
RIGHT SIDE VIEW REAR VIEW 17+ [200-2040 RAKU PUR 32-3250 B IN 225 KG BARRELS | 1
SCALE 1:10 SCALE 1:10 (496 LBS)
SUBPANEL(S) SHOWN 18" _[SPGP-6.8X6.8-836-W
19" [200-0276 PEM, NUT, SS-032-121, STEEL, ZN FINISH, | 16
FOR REFERENCE ONLY #10-32, MIN THK=0.04
DIMENSIONS APPLY [ NAME | DATE  [CUSTOMER:
BEFORE SURFACE DRAWNBY. NORTH AMERICAN ELECTRIC
FORE SuRiA | bwelch [ 2/23/2018
. TITLE:
TOLERANCES UNLESS s n i
OTHERWISE SPECIFIED ﬂ Ghaelers TYPE 4, 12, 13, 3R SINGLE DOOR WALL MOUNT
NOTES: 0.XxX +0.010 i6BOA NASH ROAD EIGHT:
SCOTT GITY, MO6780 :
1. SEALING WASHERS PROVIDED FOR MOUNTING. 0.xx +0.06 P (570) 088 6400 FAX. (573 8853438 B 80.337 Ibm |
2. PLASTIC PRINT POCKET SHIPPED LOOSE. -
0.x +0.1 TS 5 FILE: ES-302410-836 REV. 1
X $025 | CUST.DWG. 00 REV. .0
o 1 VATL: 14 GACARBON | SHEET 10F 3
I

1



	Sheets and Views
	ENCN4-ES-302410-836-A61-Sheet1


